VA ! | l\ \\5
Wade Park Ave. % — - /
o Magnolia Dr. - AM Route
PAINESVILLE TWP. PARK-N-RIDE, - ag = () S
L : — aketran bus Stops
MENTOR PARK-N-RIDE’ < Cleveland Histon 5 - P
> ' v |5 Wi === PM Route
WICKLIFFE PARK-N-RIDE W7\ VA Medical Center | Cerler ¢ =~
2 = - & @ Laketran Bus Stops
University Circle Area \5,| <= N\ o Laketran Transfor
& 7. ° of Music Q‘b. _
g/ 8
eshore Bivd. o Hist leveland B
Lakeshore Bivd. Mt. Sinaj Dr. {ee story Botanioal § o Cleveland =
Garden AR > W st = -
Mentor Painesville Township Wade Oval Dr. °e C}\b of Art é o
N Park-n-Ride Park-n-Ride § " & = Y
8650 Market St. 555 Lakeshore BIvd = Q = -
A S 1E AL R
S\ ;?Af'ggg'uaﬂqd O Mayfield Rd. 2
Wickliffe : - of Art o H
Park-n-Ride w 3 m *HC = Bife ra
4 o @ Z Y
29551 Lakeland Bivd g - A //79 @ ?t\ 0@// == Rapid Station
. © < ® Park Ln~ v s} RS A 5
Cleveland i B S Cleveland I g9 fO é_ Q/QC} V ::
Lakeland Bivd. ] Ll A (S‘;‘gn%r - S s
i ° $§
= . UH Clevelang $
« Bike racks available at Madison, < g Chester Ave. ®® Oé/é Medical center R $ ,\\\Q\é'
Mentor and Wickliffe Park-n-Ride lots. & J{| & % S/ § &
* Park free in Laketran w OUJ Euclid Ave. | o0 Case Western g :\\B $$ <</b
° — oo Reserve University O/ s
Park-n-Ride lots. S
Cleveland Clinic ¢$
Main Campus 3
AM BOUND ASTBOUND
.05 8
e =
25 EB_ =_
. L 'S [X) ) -
g . 28 GSE ZSE = - - & 5
o3 ] ] 3 2 o3 3 T 3 S 3 O @ > ) = ) @ L=
23 = = S8 = s 2 s B - Z & 5 2 =4 k=4 23
=% - I 2% S =5 I S = 5 2 s = s P &% = I =%
S = o == = O - = © == o = D B = S
2 £ x =x - 3 = 8 = =2 = 3 S 3 2 S x S 5 = £ £ x 2 x
SF 25§ 25 8= &8 325 38 L8 sS4 w& LE =5 2§58 SE
4:40 4:55 5:15 5:35 5:40 5:45 5:51 5:53 5:58 6:00 6:02 6:22 6:37 -
5:25 5:40 6:00 6:20 6:25 6:30 6:36 6:38 6:43 6:45 6:47 7.07 7:22 -
5:55 6:10 6:30 6:50 6:55 7:00 7:06 7:08 7:13 7:15 717 7:37 7:52 8:08
- 6:40 7:00 7:20 7:25 7:30 7:36 7:38 7:43 7:45 7:47 8:07 8:22 8:38

EASTBOUND

WESTBOUND

=

S & g

£EZ = =
g = ﬁ % § é u_% g = s g
=3 3 2 o3 3 T I © 3 O ] 3 35 ) @ L)
=& S E g . g = £ e #E <5 & | &£ .- = 2E
2 < z°S Z9 =5 =3 =S 5 = £5 £2 EL 5 & Z =
g £ = s 22 22 Z2 g e 8= 8 E =1 £ = 2
g L 8 2 25 328 &8 & o & W= =& 25 £E
2:30 310 3:13 3:18 3:24 3:26 3:29 3:31 3:33 353 408 4:23
3:30 410 413 4:18 4:24 4:26 4:29 4:31 433 4:53 5:08 5:23
4:30 510 5:13 518 5:24 5:26 5:29 5:31 5:33 553 6:08 6:23

5:00 5:40 5:43 5:48 5:54 5:56 5:59 6:01 6:03 6:23 6:38 6:53




